NUMBER PATTERNS

Multiplication and division work together.

E.g.
18 ÷ 3 = 6 and 18 ÷ 6 =3 



Because 6 x 3 = 18 and 3 x 6 = 18

Now fill in the missing numbers:
2 x 6 = ___
6 x 2 =___
12 ÷ 2 =___
12 ÷ 6 =___

3 x 4 = ___
4 x 3 = ___
12 ÷ 3 = ___
12 ÷ 4 =___
5 x 3 = ___
3 x 5 =___
15 ÷ 3 = ___
15 ÷ 5 =___

9 x 2 = ___
2 x 9 = ___
18 ÷ 9 = ___
18 ÷ 2 = __

4 x 5 = ___
5 x 4 = ___
20 ÷ 5 = ___
20 ÷ 4 = __

3 x 9 = ___
9 x 3 = ___
27 ÷ 3 = ___
27 ÷ 9 = __

4 x 8 = ___
8 x 4 = ___
32 ÷ 8 = ___
32 ÷ 4 = __

12 x 2 = ___
2 x 12 = ___
24 ÷ 2 = ___
24 ÷ 12=__

3 x 7 = ___
7 x 3 = ___
21 ÷ 3 = ___
21 ÷ 7 = __

5 x 9 = __
9 x 5 =__

45 ÷ 5 = __
45 ÷ 9 = __

